

Ask someone to pick any number between 1 and 31.  Have them indicate which boxes below contain their chosen number. 
Inform them that you will tell them what number they chose.
How to do it:  
· Add up the first number of each box in which their number appeared 
· The total is the number they picked 
How does it work? 
· Because of the binary system – something that all computers are based on 
· Binary is a word that has to do with the number 2
· Look at the first number in each of the boxes:  1, 2, 4, 8, 16
· They are all powers of 2 – which means you multiply each number by 2 to get the next one 
Try it!  It works!  
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